
Possible Solutions 

 

Venn Diagram 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

A square satisfies all of the requirements for both a rectangle and a rhombus, so it fits in the 

intersection of those two ovals. 

 

A rectangle, square and rhombus satisfy all of the requirements for a parallelogram. 

 

A trapezoid satisfies some of the requirements of a parallelogram, but not all of them. Therefore, it 

is in an oval by itself. 

 

Trapezoids and parallelograms satisfy the requirements of a quadrilateral. 
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